

1

0-0 case

fundamental eq.

s · k_x^k = (u + δ + k) k_x^{k+1} s.s.

k̇ = s · k^k - (u + δ + k)k

s = (u + δ + k) k_x^{1-k}

k̇/k = s · k^k/k - (u + δ + k)

k̇/k = (u + δ + k) · k_x^{1-k} · k^{k-1} - (u + δ + k)

k̇/k = (u + δ + k) [(k/k_x)^{k-1} - 1]

linearize using Taylor

k̇/k = β (ln k_x - ln k)

β = (1 - α)(u + k + δ)

mycler's convergence

β = - ∂(k̇/k) / ∂ log k

- jak moc se zmeni k̇/k když se zmeni kapitálová práce (+)

k̇/k = s · k^k/k - (k + u + δ)

k = e^{log(k)}

k̇/k = s · k^{-(1-α)} - (k + u + δ)

k^{-(1-α)} = e^{log(k) · -(1-α)} = e^{-(1-α) log(k)}

k̇/k = s · e^{-(1-α) log(k)} - (k + u + δ)

∂(k̇/k) / ∂ log k

=> s · -(1-α) · e^{-(1-α) log(k)} = -(1-α) · s · k^{-(1-α)} = -β

blisko ss

s = (u + δ + k) k_x^{1-k}

β = (1 - α) · s · k^{-(1-α)}

β = (1 - α)(u + δ + k)

②

Taylor expansion

$$f(t) = f(x^*) + \frac{\partial f}{\partial b} \Big|_{t^*} (t - x^*) +$$

$$+ \frac{\partial^2 f}{2! \partial^2 x} \Big|_{t^*} (t - x^*)^2 + \dots$$

$$\frac{\dot{h}}{h} = \frac{\partial \log(h)}{\partial \epsilon}$$

$$s. e^{-(n-k) \log h} - (n + \alpha + \delta)$$

$$\frac{\partial \log h}{\partial t} \approx \underbrace{(n + \delta + t) h^{1-\alpha} \cdot h^{-(n-k)} - (n + \alpha + \delta)}_0 +$$

$$+ \underbrace{s - 1}_{(n + \delta + t)} (1 - \alpha) \cdot h^{-(n-k)} (\log h - \log h^*) + \dots$$

$$- (1 - \alpha)(n + \delta + t) [\log h - \log h^*]$$

$$\frac{\dot{h}}{h} = - \beta [\log h - \log h^*]$$

$$\beta [\log h^* - \log h]$$

$$y_{x^\alpha} = \alpha \cdot y_x$$

$$\frac{\dot{y}}{y} = \alpha \cdot \frac{\dot{x}}{x}$$

$$y = x^\alpha$$

$$\frac{\dot{h}}{h} \approx -\beta^* (\log h / h^*) \quad \log \left(\frac{y}{y^*} \right) = \alpha \cdot \log \left(\frac{x}{x^*} \right)$$

$$\approx -\beta^* \left(\frac{1}{\alpha} \log \frac{y}{y^*} \right) \quad \frac{1}{\alpha} \log \left(\frac{y}{y^*} \right) = \log \left(\frac{x}{x^*} \right)$$

$$\frac{\dot{y}}{y} = \alpha \cdot (-\beta)^* \frac{1}{\alpha} \log \frac{y}{y^*} = -\beta^* \log \frac{y}{y^*}$$

③

$$\frac{y}{y^*} = \alpha \frac{\dot{a}}{a} = \alpha \left[s \cdot a^{-(1-\alpha)} - (x+n+\delta) \right] =$$

$$\begin{aligned} y &= a^x \\ y^* &= a^x \end{aligned} = \alpha \left[s \cdot y^{-\frac{(1-\alpha)}{\alpha}} - (x+n+\delta) \right]$$

$$s \cdot a^x = (\dots) a^x = \alpha \left[y_x^{\frac{1-\alpha}{\alpha}} (n+x+\delta) \cdot y^{-\frac{(1-\alpha)}{\alpha}} - (x+n+\delta) \right]$$

$$s \cdot y = (\dots) y^{\frac{1}{\alpha}} = \alpha (n+x+\delta) \left[\left(\frac{y}{y^*} \right)^{-\frac{(1-\alpha)}{\alpha}} - 1 \right]$$

$$y^{1-\frac{1}{\alpha}} = \frac{(\dots)}{s}$$

$$y^{\frac{\alpha-1}{\alpha}} = \frac{(\dots)}{s}$$

$$\frac{(\dots)}{y^{\frac{\alpha-1}{\alpha}}} = s$$

$$s = \underline{y_x^{\frac{1-\alpha}{\alpha}} (n+x+\delta)}$$

and $\beta = - \frac{dy/y}{d \log y}$

Taylor

$$= \underline{(1-\alpha) (n+x+\delta) \left(\frac{y}{y^*} \right)^{-\frac{1-\alpha}{\alpha}}}$$